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FS| Bh B (h K) | SF5EH S (%) 2 &t
1 &BH 51182 2.104 -30.7 5
2 &FH == 2.642 -28.3 7
3 E3] Pl E 3.347 -32 8
4 £3]{a NEZ=! 3.51 -33.6 9.5
5 RBMN N 3.904 -38.1 15
6 AR FHEX 3.902 -35.8 15
7 =24 ¥OBAT 4.001 -37.5 18
8 &6H EHHIX 3.635 -26 19
9 {=8H e 3.186 -23.9 19
10 | &BH = 3.801 -27.3 20
11 | &k e =] 3.92 -30.1 21
12 | RBM ZH™m 3.902 -27.9 215
13 | =17k AEE 2.888 -22.2 225
14 | 1Sk ZILE 3.745 -25 23
15 | FBM SEPAT 4.071 -30.7 24
16 | FabH WIE 3.391 -21.7 28
17 | =ik R=Emh 3.611 -22.3 28.5
18 | FfF BE 4.275 -32.9 29.5
19 | &k HFE 3.209 -20.3 29.5
20 | Y@L peg Iyl 4.03 -25 30
21 pe=diia R 3.127 -19.8 30.5
20 | =ik V=N 4.14 -26.1 31
o3 | FEafH yapiA=! 4.212 -26.4 32
o4 | T&BH Fraped=! 3.419 -19.8 33
25 B BEFE 4.377 -35.6 335
26 | FabH HYEE 3.7 -215 335
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FS| EHh B (b X) FS5iEH (%) ¥ HiE
27 | HME =5 4.252 -26.7 34
28 | FImL EF8 4.11 -24.6 34
20 | HEME M 4.377 -31.1 355
30 | mabH HiEE 4.185 -24.4 36
31 | 25 HERE 3.991 -22.7 36.5
30 | =ik BRM X 3.908 -22.1 36.5
33 | ¥FE ESd=] 4.264 -24.9 39.5
34 | BO ke 4.45 -28.3 40
35 | FAfH EEl= 3.99 -21.4 40.5
3% | 2 KiEE 4.345 -25.7 42
37 | &M =" 3.053 -16.2 42.5
38 | FBA R B 4.246 -23.3 43
39 | & ZEHE 4.237 -22.8 43
40 | ABM B 4.282 -23.6 435
41 | BA AL 4.48 -28 44
42 | Il HE 4.296 -23.6 44
43 | BO EHE 4.538 -28.1 44.5
44 | 1SFH #18 3.895 -18.4 46
45 | HEE WEHE 3.769 -17.8 47
46 | A IEFRE 4.403 -23.9 48
47 | ABM ™ 4.262 -21.9 48
48 | FBMM An==iBX 4,585 -26 49.5
49 | FETRL 2|18 4.031 -18.8 50.5
50 | FabH XBMN T 3.638 -15.8 50.5
51 | {SHH =1 3.457 -14.6 50.5
52 | {5k BE 3.899 -16.8 51.5
53 | FabH aEE 3.455 -12 53.5
sa | B R e 4.467 -23.1 54.5
55 | {SkH FE 3.592 -12.6 54.5
56 | FafH Eag 3.058 9.1 54.5
57 | 15FE EaE 3.865 -15.4 55
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58 | BAIF FRuh X 4.244 -18.8 56.5
59 fan=1 KB 4.765 -25.2 57
60 | @ KR 4.23 -18 58
61 | A AEE 4,672 -23.5 58.5
62 | FFE HFRFX 4.318 -19.7 58.5
63 | %A pg=! 4.442 -19.8 61
64 | HDIE e aA=] 4.364 -19 62
65 | HEEE Nzl 4.208 -16.3 62
66 | %A MM 3.657 -8.9 62
67 | M [iiske =) 4,546 -20.2 64
68 | M LEE 4.473 -19.3 66
60 | HZ HEE 5.246 -24 67.5
70 % NEE 4.714 -20.8 67.5
71 | 2B T#EE 4.848 -22.1 68
70 | HESE RegEi=t 4.307 -16.4 68
73 | HBIE e 4.138 -11.5 69
74 B HEER 4.047 -10.3 69
75 | BfE BRE 4.839 -215 69.5
76 | VB BELX 4.737 -20.2 69.5
77 | HMF OHRX 4.666 -19.7 69.5
78 | B )] 4.732 -19.9 70
79 | ®AE A=) 4.456 -17.5 71
g0 | “FImLL Aa%X 4.325 -16.1 71
81 | HZ A=} 5.342 -235 72
g2 | FabH FEFE 4.035 7.1 725
83 | #Z RIRX 4.456 -16.8 73
g4 | FSEE wE 4.744 -19.3 74
g5 | HEEE i = 4.657 -17 775
g6 | =IJlk EE 4.317 -11.4 78
g7 | HESIE 1EfHE 4.404 -13.7 78.5
gg | HSEE BLX 4.303 -10.2 785
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go | RAM ERipy E 4.7 -17.4 79
90 | FFE = 4.892 -18.4 82
o1 | #BEE HE 5.078 -18.9 83
92 | IR SE 4.493 -11.9 85
93 | ¥o R 5.431 -19 86
04 | P FEE 5.304 -18.2 88
95 | #WZ [FFRE 5.295 -18 88
96 | %PH =1 4.822 -14.8 89
97 | RAH EEE 4.763 -14.1 89
98 | i=BH A= 4.891 -15.8 89.5
99 | i=PH ERE 4.873 -15.5 90
10| BE EiRE 4.57 -8.2 915
101 | FBA Ttk 4.864 -135 93
102 | @E TR 4.681 9.3 93
103 | BE MEEL 4,596 7.4 93
104 | #% BHEm 5.699 -17 935
105 | FFE BirE 5.13 -14 96.5
106 | FFE FEEE 4.955 -10.4 98.5
107 | ##BH NER=! 4.989 -9.5 100.5
108 | #Z A= 5.432 -13.3 102
109 | BE ki 5.018 6.2 104.5
110 | BE RiE 5.067 3 106
111 | BE E88 5.174 4.8 108
112 | ##BH =\-[E= 5.328 -3.5 109
113 | BBHM {E)firs Tk R ELIRE
113 |BE5EmM| k8 TR EILRE
113 | FFidmh =EH TR EILRE




